Process returned @ (0x0) execution time : 0.039 s
Press any key to continue.
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Input the first nuesber: 5

Input the second nusber: 3

Input the third nusber: 7
riangle can be formed
periseter = 15.0

srocess returned 0 (0x9)
press any key to continue.

execution tise :

4.301 s
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Enter person’s
nter person’s

whiie
sec 4
enter person’s
Enter person’s
nter person’s age
Enter person’s 8ge
Enter person’s age [20]):
2 nrintf(® ; . a1 ti1]1 a baby: ©
: i mrf (*5T ' R Still in School: 7
dult life: 7

execution tise : 35.910 s

rocess returned @ (6x0)
to continue.

ress any Kkey
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'''''

finclude <stdio.h>

finclude <stdiib.h

int main()

EP(

=)

*ﬂu{' }-gc

int age;
int cnt_baby=C,cnt_school=d,cnt_adult=(;
int count»i;

while(count<l0)

{

princtf ("Enter person's age [Vd): ",count+l);
scanf (“\d", sage);

Af(age>=C L& agec=4)

else

cnt_baby++;
if{age>=5 Li age<=17)

cnt_school+s;

else

cnt_adult+s;

count++;
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